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Linear Equations in Two Variables

1. Isthe point (1, 3) a solution to the linear equation 5x — 9y = 32? Explain.

2. Find three solutions for the linear equation 4x — 3y = 1, and plot the solutions as points on a coordinate plane.

Linear equation:

4x —3y =1
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1. Consider the linear equation x — 7Y = —2.

a.  Will you choose to fix values for x or y? Explain.

b. Are there specific numbers that would make your computational work easier? Explain.

c.  Find five solutions to the linear equation x — 5V = —2, and plot the solutions as points on a coordinate plane.

Linear equation:

x 3 y
——y =2
X=3y

1
2. Find five solutions for the linear equation g x + y = 12, and plot the solutions as points on a coordinate plane.

3. Find five solutions for the linear equation —x + 3V = —6, and plot the solutions as points on a coordinate plane.

4. Find five solutions for the linear equation 2x 4+ y = 5, and plot the solutions as points on a coordinate plane.

5. Find five solutions for the linear equation 3x — 5y = 15, and plot the solutions as points on a coordinate plane.
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1. Isthe point (1,3) a solution to the linear equation 5x — 9y = 32? Explain.
No, (1, 3) is not a solution to 5x — 9y = 32 because 5(1) —9(3) =5 — 27 = —22, and —22 + 32.
2.  Find three solutions for the linear equation 4x — 3y = 1, and plot the solutions as points on a coordinate plane.
y
. Linear equation: y 107
4x—-3y=1 94 Py
41)-3y=1 .
4-3y=1
1 1
-3y =-3 71
y=1 6-
4x—-3(055)=1
54 ®
4x—-15=1
N 4x =16 > 41
x=4 34
4(7)-3y=1 :
28-3y=1
7 -3y = —27 ? L
y=9 B X
o 1 2 3 4 5 6 7 8

Students practice finding and graphing solutions for linear equations that are in standard form.

1.  Consider the linear equation x — %y =-2.
a. Will you choose to fix values for x or y? Explain.

If 1 fix values for y, it will make the computations easier. Solving for x can be done in one step.

b. Are there specific numbers that would make your computational work easier? Explain.

3
Values for y that are multiples of 2 will make the computations easier. When | multiply 2 by a multiple of 2, |

will get a whole number.
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c. Find five solutions to the linear equation x — %y = —2, and plot the solutions as points on a coordinate
plane.
Linear equation:
. X — ;y =-2 Y
3
X — 2 2)=-2
1 x—3=-2 2
x—3+3=-2+3
x=1
3
X — 2 4)=-2
4 xX—6=-2 4
XxX—6+6=-2+6
x=4
3
X — 2 (6) =-2
7 x—9=-2 6
Xx—9+9=-2+4+9
x=17
3
X — 2 8 =-2
10 x—12 =-2 8
x—124+12=-2+12
x =10
3
X — 2 (10) = -2
13 x—15=-2 10
x—154+15=-2+15
x =13
114y
10
7
1
1 | L | L L L L L x
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1
2.  Find five solutions for the linear equation ;x + y = 12, and plot the solutions as points on a coordinate plane.
Linear equation:
x 1 y
= =12
3 x+y
1
3 B)+y=12
3 1+y=12 1
y=11
1
3 6)+y=12
6 2+y=12 10
y=10
1
3 9+y=12
9 3+y=12 9
y=9
1
3 (12)+y=12
12 4+y=12 8
y=8
1
3 (15)+y=12
15 5+y=12 7
y=7
Yy
1
1
11
1
1
X
1 2 7 10 11 12 13 14 15 16
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3.  Find five solutions for the linear equation —x +

Bl w

y = —6, and plot the solutions as points on a coordinate plane.

Linear equation:

+3—6
x4y—

+3(4-)— 6
X+ =

-x+3=-6
—xX+x+3=-6+x
3=-6+x
3+6=-6+6+x
9=x

12

3(8) 6
_x+4 = —

—-x+6=-6
—X+x+6=—-6+x
6=-6+x
6+6=-6+6+x
12 =x

15

3
—x+-(12)=—6
x+5(12)

-x+9=-6
—X+x+9=-6+x
9=-6+x
9+6=-6+6+x
15=x

12

18

3
—x+>(16) = —6
x+4_()

—x+12=-6
—x+x+12=—-6+x
12=—-6+x
124+6=—-6+6+x
18=x

16

21

3
—x+>(20) = —6
x+4_()

—x+15=-6
—x+x+15=-6+x
15=—-6+x
15+6=-6+6+x
21 =x

20
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4.  Find five solutions for the linear equation 2x + y = 5, and plot the solutions as points on a coordinate plane.
x Linear equation:
2x+y=5 Y
2(1)+y=5
1 2+y=5 3
y=3
2(2)+y=5
2 4+y=>5 1
y=1
23)+y=5
3 6+y=>5 -1
y=-1
2(4)+y=5
4 8+y=>5 -3
y=-3
2(5)+y=5
5 10+y=5 -5
y=-5
2
1
0 x
-2 -1 2 3 5 6 7 8
-1
-2
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5.  Find five solutions for the linear equation 3x — 5y = 15, and plot the solutions as points on a coordinate plane.
x Linear equation: y
3x-5y=15
3x-5(1) =15
3x-5=15
3x-5+5=15+5
20 3x =20 1
3 3 20
3*°3
20
73
3x—-5(2)=15
3x-10=15
3x-10+10=15+10
25 3x =25 2
3 3 25
373
25
*T3
3x-5(3) =15
3x-15=15
10 3x-15+15=15+15 3
3x =30
x=10
3x—-5(4) =15
3x-20=15
3x—20+20=15+20
35 3x =35 4
3 3 35
377 3
_ 35
T3
3x—-5(5)=15
3x-25=15
3x—25+25=15+25
40 3x =40 5
3 3 40
3*°3
_ 40
*=3
Y
L ! . ; : 3 ==
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